
Chapter 6 Solving Linear Equations Linear Equations and Inequalities 
 

Day 4 Questions (15 answers) 

61. 6𝑥 + 2 =  10 +  4𝑥 
 

62.  2(𝑥 + 3) = 16 
 

63.  5(𝑦 − 2) = 3(𝑦 + 4) 
 

64.  5(𝑥 + 12) = 6𝑥 − 5 
 

65. −3𝑐 + 7 = 2𝑐 − 8 
 

66.  8 + 2𝑧 + 15 = 4𝑧 + 15 − 10𝑧 
 

67.  −3𝑥 − 32 =  −2(5 − 4𝑥) 
 

68.  −3(ℎ + 6) =  −2(−5 − 2ℎ) 
 

69. 2𝑎

3
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4𝑎

5
+ 7 

 

70.  0.75(𝑡 − 120) = 0.25(𝑡 − 30) 
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72.  𝑥 − 1

6
=  

𝑥 − 3

4
 

73. 123

𝑟
= 3, 𝑟 ≠ 0 

74.  
6 −  

31

𝑗
= 7, 𝑗 ≠ 0 

75.  
2 = 1 −  

42

𝑘
, 𝑘 ≠ 0 

  


